6—-3ERET  BFEE SH12H(K)

( )F Ani( )

WD X5 et o R ZE R D, B E 1T,

(1) HEEnQ2, 0), HERN x=—2 (2) HEE (=1, 0), HERN x=1
(3) SN0, 1), UERN y=—1 (4) TESOMEEFRENF R, YRS x=2
WO ER L ERERD X, £, OB OIEE 0T,

1) »=x 2) y?=—2x

(1) ROl OIER, HoEREZRD &,

(7) y=2x () y2=—12x (V) y=—

2) ROEMEENTS TR OITRAERD X,

(=) s (% 0). AT 2= —

() R0, 4), FERPER y=—4

1) femw yi=Tx OES, HEREZRD X,

@) FEED(0, —1), HERPER y=1 ORI OITFRNERD L,

3) EmRME, BRR 2@ ECHY, K(-2, 2) 2l HRO FREAERD &,

@) R y=2x"—8x+5 DHEL, HERE, RONEEZBM L TRD L,
B y=a(x—m) 4+ n (ax0) D

I (m, L ), W = L
4a 4a

(1) itk x®= —8y DR L UM AR, T DOWIE % 12T,

@) H(B, 0)ZmY, B x=—-3ZHETDHHOTLOEBNE KD &,

(3) THRMFAT, BN v#h bichY, 89, —6) 2@ Doz Rk X,




